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1. (a) Candidates are allowed 10 minutes to fill up the basic
information about themselves in the Optical Mark Reader
(OMR) Answer-Sheet such as Name, Roll No., etc.

{b) After this, Question Booklet will be given to the
caudi_n;la.tu They are required to do the following :

() Examine the Question Booklet and see that all paper
seals at the edge of the Booldet sre intact. DO NOT
accept the Question Booklet if paper seals are not

{ii) Tally the number of pﬂgu along with the number of
questions printed op the coverpage of the Question
Boolklet.” '

(i) Check -that the Question Booklet contains the
questions of all relevant Subjects/Bections as
required and statediin the Note and no repetition or
omission of questions is evident.

In case of any dissrepancy, please get the Question
Booklet changed. This should be done within 5 minutes
of receiving the Question Booklet, after which n#jther the
Question Booklet will be replaced nor will extra time be
given.

fiv) After examining the Question Booklet, please enter
the Serial No. of the Question Booklet at the
appropriate place in the Answer-Sheet and -the
corresponding circles be darkened with Black
Balipoint Pen.

fc) Candidates are not permitted to mark answers in the
Answer-Sheet in these 15 minutes. Two Hours more will
be given o mark the answeny,

4. (a) On Page 1 of the Answer-Sheet in upper halfl portion,
write Name, Roll No., Name & Exam., Name of Exam.
Centre, Date of Exam. and Sl. Nb, of Question Booklet
supplied to you. Put your signature also. On the lower
half portion of this page, fill in the boxes O of the first
topmost line in capital , your surname and name
{in English). Write only one letter in each box 0. Below
each letter darken with Black Ballpoint Pen the circle O
bearing same letter.

(b} On Page 2 of :he Answet-Sheet, fill in your Rell No., etc.,
by writing in the [0 and below it by darkening
' corresponding O.
fcg On Page 2 of the Answer-8heet, only the answers to
questions are to be m . The instructions for this are
nuﬂableonthebackcm:woftlﬂl(}uuﬁ.uﬂaoklet.
{d) All enmumtobemndeby Black Ballpoint Pen.

3. OMR machine prepares the result by veading the entries made
mﬂlecird;l{}“itht\li:m t Pem on Pages 1 and 2 of
the Answer-Sheet, hence candidate must be extremely
mmmmmmmqiummm t errors.

4, Please do not write anything extra except what is asked for.

5. Use of any calculator, log tables or any other electronic
gadgots, mobile phones is prohibited.

6. Rough work shouid be done on the blank pages provided after
each Section or Subject. Extra r will not be supplied.

l:ForiIMru:tlonlm%mn, please
sec the back cover page of this tion Booklet.)

Seal of Superintendent of Examination | To be filled in by the Candidate using Black Ballpoint Pen only.
Centre and Signature of Invigilator v o e 2en Ai-gi= 8 A o) Sl No. of Answer-Sheet
Roll Number  (¥s %) (I H1 FATE)
= Declaration : I have read and understood the directions given below.
_ _ o ; 73 A vl g P Fl g mm R b
e e £ TN Y (T O — RO s
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Number of Pages in the Booklet—48 Number of Questions— 1
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7. Seen through a mirror, the arms of a

clock show 2:30. The actual time is
(A) 6:30
(B) 3:30
(©) 9:30

(D) 6:10

. Statements :

I. The prices of vegetables have fallen
during the last few days.

[I. There has been considerable
improvement in quality of
vegetables produced.

Choose the correct answer.

(A) Statement I is the cause and
statement II is the effect

(B) Statement II is the cause and
statement I is the effect

(C) Both the statements I and II are
independent causes :

(D) Both the statements I and II are
effects of independent causes

. Which of the following represents
‘stone, plant and fire”?

() OOO

(B) O
()

o QD

13-PARSK/2-A

. T wdo # @ e ud A ggat 2:30

&, o arcafees @ 2
(A) 6:30
(B) 3:30
(C) 9:30

(D) 6:10

. YA :

1. T g Al d afeswl % v 4 fiwee
At R |

II. Scniea afesEt @ JorEn § bl Gur
T 2

& IW Bited |

(A) YA I R R 3R HoF 11 INE &
(B) A II VT & 37 oA [ T9ME &
(C) A I 3 FHH I T Fad SR &

(D) o I 3R HIA 1 SHT Wad S &
T9E §

9. fi=feafaa & @ F9-w1 ‘Wer, ey T W

<l JERIA LT &7
(A) Q) HO)

O
(B) @)
(C)

[ P.T.O.



Direction (Q. Nos. 10 to 12) : Study the  fEm(TFHc10# 12) : R =1 AT S F
diagram carefully and answer the questions : ot & e Afe ,:i?i% -

O —» Youths in :1,_. S i
a village R \ Lok TR T
Jlaten A 4 2
8 — Unemployed JF+ 5 e
0O —> Educated S y .2

() 4 ¢ A 4
B Sms | s
g 5 b {5 e
!.\,.%‘“* I ” i DR

. =i __:‘:I___::'_ o Gk : i : it
~ 11. Uneducated unemployed youths in the 11. 74 #
wic- L ! m I"'-:r I'E;irﬂﬁﬂt‘ltbd.' hﬁr -3 .a , -\-t"- £ ':
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13. Centigrade and Fahrenheit scales give
same reading at

(A] 0°
@) -48°

© 40

‘dance belongs to which one of

13, 420E W wRTEme S d ug-Sar A

(A) 0°
(B) -48° W
(C) 40° ™

.- - )

14. w7 ﬂﬁ%ﬁﬂ’ﬂ He
S ﬁlﬁﬁr %? ‘_




16. Which of the following States is in the
south of Madhya Pradesh?

Rajasthan
. (B) Gujarat
(C) Chhattisgarh

(D) Maharashtra

17. Which of the following rivers originates
from Madhya ‘Emdesh and flows
through Madhya Pradesh, Maharashtra

i and Gujarat?

'@g S T

{ (B) Chambal

St .;ﬁ_i:; Ken

1 ‘= ﬁ,_

!
. fﬁ l'l. Et!? n.ﬁ.fﬂal of Mad]??iﬁﬂduh is
.?1! nrm@w s

i
1

¥

.::.r'_ﬂ _: ::.' 3 :

B g gl
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20. In Madhya Pradesh, the Fossil National 20. A veu # %ife Fee arh frafafiad 4 @ 'A |

Park is situated in which of the fora foret o feera 27
following districts?

(A) Dindori (a) feerd |
(B) Ratlam | (B) T E_
e Uijain © o

%‘? PR .

- (D) Bhopal (D) AT

number of Parliamentary Constitu-
icies in Madhya Pradesh is




23. How many sites in Madhya Pradesh
 are declared World Heritage Site' by &-gﬁ‘ﬂm #‘6‘?*
UNESCO?

% | B 4
? & 4 i
©) 5 (C) 5 i s o e o

J j oHg e |
L ol ﬁﬁ i
(D) Nome of the above U

Bide ik atihe  fallamin dams s e
mnsﬁuﬂtedﬂnﬁ'n‘nﬁveﬁg > .3 THT'E? .

i
B

(D} Shiv Raj §
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180, In India, where was the first Metro Rail 30 M*#ﬁﬂ:’ ; "t
b it stmetedb U gl i i r.»g.'

: | (A) Kolkata

(B) Mumbai

|

?
¢

31. Who was known as the ‘Tiger of 3
~ Mysore? i 8 o )

' \ LI

. (A) Haider A-ii g

o
'}

'..':“'-- - I't'& f‘nm y K !"‘ .I | A \ .

B e R

i tmfmtrr WA

g e g



33, If PxQ means P is brother of ¢, P+ Q 33, AR pxQ @ aed ¥ BRop, @ w1 o B,

~ means Pis son of Qand P-Q means P prom aed & f5 P, QW T R AWM
is sister of Q, then which of the following p-o® aed ¥ Brop, o Frafa b, @
. rgllﬂﬁ% will show that Q is maternal frfrfian @ & #-m T TR S ]
© uncle of P? :
fF @, P A B7
A) PxR+0Q
{A) PxR+Q '
P+R-0Q ;
ﬁ {B) P+R-0)
W"ﬂ'*ﬁ
€) R-P+0Q

D) QxR+F

=

‘woman a man says, “Her _ e iy o .
is the mother of my ﬂ.ﬁmﬁfﬁﬁﬂmﬂ &
the man related to that el wrn ) A A ﬁilT - 2,
4 75N ] HiEE @ T §



36. Study the given statement and gelect
the alternative which best represents
the statement !

“‘Ravi is (illiterate,
cannot write,"”

therefore he

Thus we can say that

(A) only some of the literate persons
can write

(B) all illiterate persons cannot write
(C) some literate persons also cannot
write

(D) None of the above

Direction (Q. Nos. 37 and 38) : In each
question given below, a statement is followed
by two arguments numbered I 'and II. You
have to decide which of the arguments is a
‘strong’ argument and which is a ‘weak’

argument and then select the correct
alternative.
37. Statement :
Should political parties be banned?
Arguments :

I.  Yes, it is necessary to teach a
lesson to the politicians.

II. No, it will lead to an end of the
democracy.

Only argument [ is strong

(4)

argument II is strong

(C)

fgument I or argument II is

(D)

13-PARSK/2-A
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wivfere @t @ ¢

ey srreg b, e 78 el 7l

7d: &9 e ha ¢ 16
(A) @"@mmwﬁﬁﬁﬁ"@'mz
(B) it arg =t Tl ford dehd @

() Fo e =t H T forel § % ©

(D) 37w # & =g T

¥y (wwa wo 37 3ik 38) : ﬁmﬂ?%ﬂﬁ@
mﬁmw%ﬁnﬂ:ma’taﬁuwnﬁ:&ﬂﬂﬁl
yeR! Fofa & @ 6 -ar o “dted %ﬁﬂl"f_'i
e FHAR %aﬁtﬁ?{aﬁﬁaﬁqmmiﬁ‘fﬁt{l

- ! "4$
37. YA : 2
1 USHIGE gl W Sfdey @m T
wrfu?
L ' LR Bk

-..47_

I. ﬁm%ﬁﬁmﬂr@mwzl
L. ﬁ%ﬂﬁ?ﬁﬂﬁﬂmﬁw|

(A) I T I Aa@ &
(B) et e 11 Wery &
(C) T 1w T 1 o

=4

(B) AR L3 8 1 g
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Hl Et‘tﬂmﬂﬂt i

should India have no military force

38, =44 :

wn oA ) el Bf ae o mm

at all? s
Arguiments .
I Ne, other countries in the world " ¢
do not belicve in non-violence, | e, gk gt 2m wfpm o fawar
fl. Yes, many Indians believe in Al T #1
non-violence.
. @, 9Ee-d vnd afien 8 R o
{A) Only argument | is strong 5
(B) Only argument Il is strong "
(A) Bherer T 1 T 8

'frE] mﬂﬂmmllﬁrargunmm 11 is
aiong (B) et 7 11 T

(D) Hdi.thu’r argument | nor argument 11

(C) 7 I 3w 7 11 AT 2
D) qﬁfﬁtdﬁaﬁﬁnwi

m..mmmﬁﬁmﬁm ¢ |

el »
o ; g ox S T
(A frEm ".
. ; _ @w : - S o o
D) P NGRS P g s VA % _'-t'!

e

TR
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42.

SECTION—B / wr—B
MENTAL ABILITY AND MENTAL APTITUDE

N e Td TR Al

41. One morning Ram and Shyam were

talkiig tb each other face to face at a
crossing. If Shyam’s shadow was
exactly to the left of Ram, then which
direction was Ram facing?

(A) East

(B) West

(C) North

(D) South

Some boys are standing in a circle
facing to the centre. Bhim is to the
immediate left of Vijay. Rajesh is in
between Bhim and Mahesh. Jivan is in
between Vijay and Naren. Who is to the
left of Mahesh?

(A)

Rajesh

(B) Naren

(C) Vijay

(D) Bhim

13-PARSK/2-A
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42.

Y TH AR T A
o1 T % 3k ot

forg fRgm d 417

(A)
(B) uffem
(C) IW

(D) f&or

IO TSh T 99 A FnEe @8 ¥ o,
e & gt ol SR 31 o, | @ ww
& 7e | | Sfted, foom @ = &% v 7 R
TR F et 3 HH R

(A) =W
(B) HA
©) fem

(D) |



43, What will replace '® in the following? 43, foa o 2 &) s En Ay
Moon : Satellite 11 Earth @ 7 SEAT ¢ aue o gt o ?

(A) Sun ()l '

(B) PFlanet B TR

m ‘Solar system © A

)] Star
o D)

44. What will replace 7' in the following® .
Ocean : Water :; Glacier : ? , -
et a@ Wm 7

B FEVGITE ar o &
- (A) Refrigerator

) e

@) e - & T
"';'. : ﬁ]iﬁﬁ* fra . e E g E ‘
L " -I'l ‘ :




46, Find out the wrong term from the
following :
9; 9, 17, 8§, 65, 129
(A) 65
(B) 35

{C) 129

D) 9

47. Find the missing number of the given
series :

N

HDS 383, 1114, 4. P

(A) 228

(B) 256

(C) 352 T

(D) 456 ; - *iﬂ
! ud

%ﬁnd thg .ncxt nuzgnbermthe follo@n
B RE T 1%’9&4 257 6; 2.1

(A) 51
B) 49
© 50

(D) 47

o

13-PARSK/2-A

a6, fy it @ et @ 1@ A
519,17, 35\,~65;

__(A) 65
(B) 35
(€) 11297
(D) 9

£ L\mr*..
47, ﬁwr avn A a@u_mﬂ ﬁﬁ‘fﬂ!

Stk ==



- 49, Bind _1=ha miseing number of the given 49, fawr Soft Y gqn W Wi o : 3

series ¢ -
L. 1,.8, 9; 64, 26, 216, 49, .2
i 1‘; 'an 91 641 251 216! dgl -L

(A) 64 1
. 8
B

B) 729 V&

[EB12

(D) 81

50. it Aofi # v 9= F Em? .
82988, 60, 25, 58, 2 21, 62, 23, 60, 25, 58, 2 :

(A) 29

¥
<~

JER.

S

PrIE el R SR E

LR

L 3
LAoE y $u oW .







55.

56.

57.

3-PARSK/2-A

In the following letter series, some of
the letters are missing which are given
in that order as one of the alternatives
below it. Choose the correct alternative :

a__ca_ bcaab __ a__ bcaabc __ab

(A) bacaa
(B) aacba

(C) beacc

(D) cabba

In a certain code language if MICHAEL
is coded as JGBHBGO, then in this
code, AMERICA will be written as

() XKDRJED
(B) XKDRKED
(C) XKDRJEC

(D) XKERJED

In a certain code language if CRICKET
is coded as 3923564, ROCKET is coded
as 913564 and KETTLE is coded as
564406, then how is LITTLE coded in

that language?
(A) 204406
(B) 024406
(C) 020446

(D) 200446

25

6. frfifiaa s Aoft # g e v @ 2
atf) w3 Avft & A2 P v foeren % &
oo o 1 et faremed =g

a__ca__bcaab __a __ bcaabc __ab
(A) bacaa
(B) aacba
bcacc

(C)

(D) cabba

gfz fdft fafte %2 w1 § MICHAEL #I
JGBHBGO fo@r sirm 2, @ 36t e s &
AMERICA ! for@n smam

56.

(A) XKDRJED
(B) XKDRKED
(C) XKDRJEC

(D) XKERJED

57. © T g w1 § A& CRICKET H

3923564, ROCKET @ 913564
KETTLE # 564406 fe@r s g, @@
LITTLE %! 36 %2 ¥ # <= foran s@m?

(A) 204406
(B) 024406

(C) 020446

(D) 200446

[ P.T.O.



' Aliss. 7684 5,
K i 58. If 74683 means GREAT, then 7684
IR means

(A) GEAR
(B) HEAR

(C) REAG

59.

=9

©) 16

D) 15

 13-PARSK/2-A



60. How many triangles does the following 60. fi ) P 1 PRad Bragst a1
figure contain?

- (A) 11
A

EB: 2 (B) 10
o (C) 6
o) 12 (D) 12

61. frel fafSme e wwn 4, 479’ #1 A9 fruit is
sweet’; 248’ &I a7 ‘very sweet voice’
ql 637”1 ¥ ‘eat fruit daily’ &, df 3H

61. In a certain code language, ‘479’ means
fruit is sweet’; 248’ means ‘very sweet
voice’ and ‘637’ means ‘eat fruit daily’.

Which digit stands for ‘s’ in that coded ETRLL 7 form 31 @1 a9 s’ 77
language?
(A) 7
(a) 7
(B) 9
(B) 9
© 4 ()
(D) Cannot be determined (D) Td &l feham S &hat

62. Choose the set of numbers from the 62. =1 fasredl § A 3 & 3 U= H gEC S

four alternatives which is similar to the 5 2 ™ ag=E & S @ (FEE) R
given set :

(16, 13,:22%)
(6, 13, 22)

(A) (6, 13, 27) (A) (6, 13, 27)

(B) (10, 16, 28) (B) (10, 16, 28)
() (11, 18, 27) (€) (11, 18, 27)
(D) (13,19, 27) (D) (13, 19, 27)

13-PARSK/2-A ar . [ P.T.O.
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63, Choose a word from the given

alternatives  that belongs to the
following group of three related words ;

Jute, Cotton, Wool

(A) "I‘er_‘ylene

(B) Silk

(C) Rayon

. (D) | Nylt;n:_ |

Choose a number from the given
alternatives that belongs to the

following group of three related
numbers : S e [
25,37, 49 ?
LR % e R

e ﬂqaf W"' e e F et aw e

s R Evnar 5 08 B

ran
(B) 56
© 60

A



5. 12% of 25 students are good in 65. 25 frfft 4 & 12% foreneff miforer 1 3T

Mathematics. How many are not good 8, o e Preneff geril o T &7

in it? X . : By

A) 18 (A) 18

B) 47 (B) 47

(€©) 22 (C) 22
D 24 (D) 24

. __..I_QQ_ns_ecutive integers, between 66. FFa a1 FAT ,{Eﬁ ST ¥ & i 5 T A7
7 &5

— lies, are

(A) 56 =,
B) 0w 1 :



68. Manish ranked 16th from the top and
29th from the boltom among those who
passed the examinatlon. Six students
did not participate in the examination
and five failed, How many students
were there in the class?

A} 40
(B} S5
(€ so

(D} 49

69. A's income is 50% more than B's. How
much percent is B's income less
than A's?

) 33%
@) 333%
(€) 33l%
D) 331% . R

70. Which number is on the face opposite

t L L . L ¥ I‘ L]
13-PARBKIZA L NN

69.

mmmmﬂmm LR
T::fm R MMIW g i
mmmuwm-ﬁﬁﬁﬁm
fornef! 47 X

[A) 40 .
ek
(B) 55 £
© 80 ’§
e
(D) 49 Ry
f s : > *

.
i
[T

1 57 A 2 e ST
(A 33%

(B)

() 33i%



SECTION—C | wim—C
SCIENCE AND SIMPLE ARITHMETIC
forsm va wrer snfora

71, Select the wrong statement, 71. Terd meA #1 w4 A
fm When water is converted into ice (A) 5@ 51 0 °C w Ak A ufrafds 7en 2, A
at 0 °C, its volume decreases g% AP o Ff a3
(B) Glycerol (glycerine) is an glco’hal (B) femia (fRrf) v w2
(C) Glass is not a true solid \/(E;j 4 Aa1da: 34 Td 2
(D) m:inﬂmsis is a chemical D) m = TER f TEEtE

m.l ..\.. \-. isa
Amoeba is a 72, T2

© (A) unicellular plant o T

(B) unicellular animal

m ; ct ine e
(D) type of s s ) ﬁ'ﬁmﬁiﬁﬁ S
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TT. Night blindness m due to the 1. mm#ﬂhmml i
javictency of which of the fallowing? :

@) Vitamin By, iy
ﬁ:.WI [ G
(©) Vitamin A Bl TR
$ “&'l-- y
(D) Vitamin C m) fafie C
7T8. Which of the following is not a part of 78. fre # & a1 w6 A4 B
Nower?
(A) T
(A} Corolla
- (B) ATEEEdA
) Petiole (c)
e Ko (D) TEm
ﬂ“‘*ﬁ;ﬁ e R R T 79. fi # § A4 wda B R W=
non-crystalline form of carbon? : # A e R A e
{A) Diamond e i) £ G
(B) Graphite e [B] m *: mr & ]

” 5 =2y ; : 1 L) 4y
w_ A, : Tt '



INOO'HUISOIN




85. In Roman
represents

system of numbers, M

AN

(A) 500
(B) 1000
(C) 100

(D) SO

86. The difference of the place values of
both of the 8’s in 278564083 is

&) 4
(B) 799912
(C) 7999920

(D) 799920

87. In the magic square
18111 1296
1 3 SR C
B | 195Isa0

the respective values of A, B, C are
(A) 14, 15, 17
(B) 17, 14, 15
iy 17, 15, 14

(D) 15, 14, 17

13-PARSK/2-A 39

85. aiaﬁaﬁlﬁmmﬁrﬂrwﬁﬁmm?

(A)

500

wﬁooo

(C)

100

(D) S0

86. 278564083 # 2l 8 & A AHEl H AR

2

A) 4

(B) 799912

(C) 7999920

(D) 799920

87. g

18 | &aslla16
13| A | C
B [R19 4L 12

ﬁA, B, c%m%,m:

(A)

(B)

(€)

(D)

14,7185, 17

17, 14, 15

17384

15, 14, 17

| P.T.Q



ge the prime factors of 1729 in
! ﬁﬂﬁm’ﬂ#ﬂr‘l‘hﬁ difference between
- two ‘consecutive prime factors is




i

e smallest fraction from the fractions 91, Frrforfirn firsd
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INSTRUCTIONS REGARDING METHOD OF ANSWERING QUESTIONS
YA o I 3 gt e
(Please use Black Ballpoint Pen) (T T ATA-dEe o7 T TN wi )
1. Method of Marking Answers : 1. 37 ¥ @t &
IE[;ESWH- H[ r:[ucsti:.ml. plgase IE_r_h:u.'f‘t-:en 7 & & e afle UHo 3o EHI-EFZ ;
ne circie out of the given four, in i PINE] =114 "ﬂ?'ﬂ'
the OMR Answer-Sheet against that i e
question. HEEl U et ), il il ?
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2. Valuation Procedure : 2, At i . n

There are four alternative answers to a T .~ &, AHieH ST 8, 30 § A

question, only one of them is cofrect. UF IO HE 3| W & qE 3 e F #

ot hre il pe swarded for cach | o), ~o | S CERIONS] S
. . ne circle

are darkened forra question, it will be ﬁﬂ = E‘l Al A8 AT = o ofted E‘T

presumed that the candidate does not o w1 Al A AT Ael & s 3 #Y o

know the comrect answer, hence, no TE1 lﬂi{rﬁﬁl

mark shall be awarded, |'
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marked circle with Black Ballpoint. - | fel-ue= 7 8 R el & Y I

Therefore, correct answer shr ..a be HEE TET BT I e Wo Ao IL-9H H

carefully chosen before marking it or .. I NN W F g wEl I =T

OMRE Answer-Sheet. mqum:k—:[—m-— T
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4. Handing over of Ansu :r-She.® to| 4, Iov-uw giws =t §igaT :

Invigilator : : .

(i) Please ensure that r . entrs...n the () s W osw-on die F 9ee E ]l
Answer-Sheet are ' ‘led ap properly, ﬁﬁfﬁﬁ F T T I § i tfﬁ[‘ﬂ
ie., Name, {Ro™ Nu. Signature, SH—m, U A, FIET, 9H-
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5. Care in Handling the Answer-Sheet : 5. IW-UF & Ivgir § HIEUTHT :

While using Answer-Sheet, adequate T T WA TR qft W e A AET

care should be taken. Do not tear or T | ™ e, T T wE 7= 2 "ﬂ'l.'l'l :

spoil the Answer-Sheet by folding or R 2w qﬂﬁ-.fa_qfﬁ ¥ # en

wrinkling, The impression of the circle mmﬁrﬁﬁtﬁ : i _ b

made by Black Ballpoint Pen should not s WAL Fﬂlﬁm-m £

come behind the Answer-Sheet, LR L
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